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7= ¥ h & |[FERETEHR 1kg 254 255 -0.4] -16.4
o~ R 1kg 544 558] -2.5| -1
2 AL, A 1kg 288 261 10.3]  19.0
mooB | 1kg 2,075 1,909 8.7 12.6
v AT &L, 1f8200~400¢ 1kg 441 429 2.8 -14.4
N [T VR RE (EBHIERT R E B BRS) 1kg 284 278] 2.2 203
® A [Frs—7 Fefoh) i, RVEZRAY (1, 000gAY) 1A 300 300 0.0 -5.7
WO G OBRE R |BER O, TS (400g AD) 1K 310 307 1.0 6.5
o= F  |nwbIva—hMr—%, 1{#(70~120g) 11H 310 367 - -
TAATY = KWN=TTAAZ)—24, S 7 AD(110mLAD) 11 253 258 -1.9] -2.7
Eis B FHIR0IRY, HoWNRY, I 148 491 4911 0.0 -0.6
FTL (9 Y) [IKEVTLERRIEEERS, 8~10fEAD, i 13y 507 513] -1.2 1.8
oY [e—x, 3 100g 232 226 2.7 -4
»n b b T |BA, BRL, I 100g 189 184 2.7 139
OB OB [RRARECEE, Ry RRRLYAD (500~550mLAY) 1000m1 181 175 3.4 -
v — b [E, I15AD(350mLAY), 61EAY 1%y 1,197] 1,142 4.8 3.9
B — T AR 10 801 801 0.0 7.8
BB e, 1AHT 627 627 0.0 2.6
=L (4 R) |EERBICETAE—L, KE, PR(500mLAY) 1R 598 517 - -

*AERERP S, AEREROT . ERERMIT. BRL PR TRIOEFEETToTRY ., ZRLSMNIFRADOHMEL TOET,
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Y Bt oA | BT 4
NG

& E| # 1 O Il Bo|mA R

14 12H % %
F 8% (R ) |RERE f;ﬂz 3,534 3,530 0.1 0.3

.om
4 T HATIH, GO Z5ED, JEEETED 18L 1,626 1,794 -9.4 -14.5
R E e MR TEERASAT, oS — N, BEHRL ERSEERE ) 2. 8kW, IEES. 6
L — : . N ’ ’ ; e e e 15 . -15.
VT AT T A G RSB 6. T~T. 2, 74 B — O TS b B X 1| 197.676] 187,517 o
BB 7 v 7 |EkTUT, BRI, SRR, S0WE 1A 1,113 1,113 0.0 13.6
Yo W A BE Al | GREA K- RR- B RGHRMER, IR, o A, AV (810~1000g V) 1ke 317 327 -3.1 -
~ S oy Yy e W T - PR ATERET — -
WA RSy s 2|7 /,Z;. GEM) T =4, TH100% ) XULTHR95% L. E-RITLZ AR, (HARXIW64 - 3600 3,690 0.0 938
~70cm, EP#&HH
W N ' — % — =Ty, TR AT 755, FEM) TR AL R A, (PAXIM, S 15 3,717 3,717 0.0 12.2
WA H PUTR, (HARE, UR)ARRE L, UEORNEIIRVAIT, (A X)23~24cm, Fifkdh ¢ 10,584| 10,584 0.0 2.9
U 7 Hl FEEERIEHSML, FAY (100mL X 104<AD) 156 995 995 0.0 0.9
" W R)TIAF 7L R, FEEREL X, ST, BITEL 60, UVAYR, M6 (71—20) 5 "

iR B PR, B L — 2, i 1TV 4 1 30,672| 27,115 13.1 27.7
HEhHE oY) vXag—h0r, B 77— AXEERL 1L 143 160 -10.6 -10.1
B B | AMmEEEEE, BRARUBERLS, 7 AT 7 VN, /N E B 1A 9,267| 9,267 0.0 1.1

= . |ESTLE, 32VEL M BT UANT a—F— 2 NR, AV a xS L, LED/ Sy 7T A . B B
7 L ot BEOH R BEF X 13< 1f 46,613| 48,744 4.4 13.9
Fe—=v 7Ny a0y, (EMARVZZAT1100%, (FARX)S~L, F#kdh 14 6,021 6,021 0.0 -21.4
1/ QT = R S B 1[a] 1,800 - - -
o2 ® [REREZEE v, v T —, vyh), B ERAELL T ER) 1[m] 3,950 3,950 0.0 2.0
7 U — A |BvekUS bR, 40gAD 1 5,400 - - -

FEDVAZ:8A~10A X235 ) TNLISORIEI ST,

(7£2) Peige TR - SF-Rk264F-3 H $6 L IE

(FE3) F Bkt : Rk 264E6 A BT 28 3

(FE4) RN  SER2T4E T A S8R E

(JE5) & —  EAR2THE L A B ZE

(76) B —/L (4h8)  FRRk274E 1 A $7 Sk T

(FET) Wem Bl R PRk T4E L TR X A T (R — it < 92k, )
(JE8) 7V — 1 A2 T A FHA Y 2 W (S — Wik TE i, )
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